N = 0l & At & Ml A

PO0HE F 18 MALEALSHEH FA
SN NEHAESD
B 52N B2 MGLE +ENM
Sl UeR DIAMY(METARSEIN)(4LEASSE ) CERED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
MBS T Dt 17,276,988 16,506,988 770,000
2 3,075,000 3,075,000 0
= 3,070,000 3,070,000 0
2 11,131,988 10,361,988 770,000
SENO AR MEAT 2BHA 17,276,988 16,506,988 770,000
2 3,075,000 3,075,000 0
= 3,070,000 3,070,000 0
2 11,131,988 10,361,988 770,000
S22 DIMY(MATAYSHIN)(HSLTASSY 17,276,988 16,506,988 770,000
5121)
2 3,075,000 3,075,000 0
< 3,070,000 3,070,000 0
2 11,131,988 10,361,988 770,000
YMNLE FLTY HTAL 1,532,342 1,332,342 200,000
401 N EHIL2THEI 1,532,342 1,332,342 200,000
01 Al bl 1,524,000 1,324,000 200,000
OYAUMLE F47Y LAY
1,524,000,0002 1 1,524,000 1,324,000 200,000
Hay gpael 1,300,526 1,311,966 A11,440
201 YBt2 | 630,066 628,966 1,100
01 AFR 22l 18,550 17,450 1,100
OEIE= 10,050 8,950 1,100
—desll, TIEIE) dUR
1,000, 00021 * 1 %20 £ 2,000 900 1,100
401 N EHIL 2T 589,460 602,000 A12,540
01 A&yl 589,460 602,000 A12,540
OLFF4T HIIYL MY Ol&AY
01 %14 0 102,000 £102,000
OW4X A&+IXSAHSI &X
149, 100, 0002 * 11 149,100 100,000 49,100
OMGLFLa &3 140,360, 00021 *14 140,360 100,000 40,360
BT 2B 1,820,432 1,238,992 581,440
201 2LEr2 A H| 135,858 125,858 10,000
01 AL 2 el 73,858 63,858 10,000
O+ E2A 68,078 58,078 10,000
—JIEHER QY SHQH S)2ML2R
13,500,000 *1¢ 13,500 3,500 10,000
206 T 2 bl 95,340 108,900 ~13,560
01 T2 bl 95,340 108,900 ~13,560
O EH| 51,840 65,400 A13,560
—~H4AHAM(SEM)  260,0002 +40E +14 10,400 20,800 £10,400
~ ASUE(HILMUES) 7Y
496,002 *40E * 1 19,840 23,000 A3,160
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SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
401 Al HIZ 201 Y| 1,534,234 1,004,234 530,000
01 A& HI 1,530,000 1,000,000 530,000

OZ&F=Z AlE MHEAY
515,000, 0003 * 14! 515,000 0 515,000
OH4E A2 WM ALK B
20,000,000& =14l 20,000 0 20,000
O ey JAFAEH HEAY
130,000,000 = 14! 130,000 200,000 A70,000
O Z8F==F L2AMH & £H N A
865,000,000 * 14! 865,000 800,000 65,000
405 TtabH S| 55,000 0 55,000
01 AL ESFH S 55,000 0 55,000
OMENA 7 20,000,000 14 & 20,000 0 20,000
OLdEF=ZT 2EXE P& 35,000,000& 104 35,000 0 35,000
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